Mathematics Primary School
Case Disccussions

Case  1

Topic : Fractions   ( Subtract Mixed Numbers )
Year  : 5

Case  :  Subtract a  Whole Number  from a Mixed Numbers 

           E.G .      3    ½    -      1

Case  : Subtract  a Mixed number From a Whole Number


E.G    :    5   -   3    2 / 5

   Case 2 
Topic  :  Fractions   ( Divide Fractions with a whole number and fraction )

Year   :   6

Case  :    4   ÷   3 / 4
   Case 3 

Topic  :  Length  ( Conversation  units of Length )

Year   :   4

Case  :     217  m  =       ________ km

                   5 cm =       ________ mm

                0.7  m =       ________ cm

Case 4

Topic   :  Decimal   ( Subtraction and addition  a decimal  number from a mixed number )

Year   :  4

Case   :   4  -   3 . 24    =

               4  +  3.  24    =

Mathematics Primary School

Case Disccussions

Case  1

Topic : Fractions   ( Subtract Mixed Numbers )

Year  : 5

Case  :  Subtract a  Whole Number  from a Mixed Numbers 

           E.G .      3    ½    -      1

Case  : Subtract  a Mixed number From a Whole Number


E.G    :    5   -   3    1 / 2
Case  1 :

Last week during  my   T&L   process for year 5 pupils on the   topic of fractions , I gave 2 type of questions, that is :
         a)       3   ½    -   1      and      b )    3    -  1  ½

In case  ( a )  almost all the pupils can get the correct answers, but in case ( b )  70 % of the pupils gave the wrong  answers , as shown  

                              3  -   1 ½   =    2 ½ 

This shown that the pupils were confused about the subtraction of whole with mixed number.
Solution 1
a) Show the pupils 3 and  ½ glasses of  orange juice . Take away 1 glass of orange juice. Ask them what is  the remainder ? 
*       3   ½    -   1   =   2   ½


                                      2 ½

b) Show the pupils 3 glasses of orange juice . Take away 1 glass  of orange juice than poured out another  ½  of a glass of orange juice .  Ask them what  is   the reminder ?
*   3   -   1  ½   =  1  ½
 

                                        1½

Solution 2

a)Draw diagram as shown below


Ask them to slash 1 shape, than ask them what is the remainder ?


b)Draw diagram as shown below
Divide one of the rectangle to 2 equal parts



 Ask Them to slash of  ½  of the rectangle 
Then ask them what is the remainder ?

Solution 3  :

By calculation  ( in vertical Form )

Step 1
 Revise the bacis operations of subtraction

      a)
	tens
	Ones

	3
	4

	-   1
	0

	2
	4


      b)
	tens
	Ones

	3
	0

	-   1
	4

	     1
	6


Solution 3

Step 2

a)    3 ¼   -  1   =   2 ¼

	Whole number
	Fraction



	 3
	1/4

	-   1
	0

	     2
	1/4


b)    3  -   1  ¼   =   1 ¾ 

	Whole number
	
Fraction



	3
	0

	-   1
	1/4



	     1
	3/4




4


4








3-1








